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I 2 mwn: two similar relationships to that of nnn o to 1Yoy
a  pn’bxifit has a hole big enough to infuse liquid, it is big enough to exude — but could be big enough to exude only
i Implication: if v191, may not be used for nrvn ’n, and if it is already a broken "3 ("R700)”) it is now unfit (<no %3 NkRMY)
1 But:if it is only ®xwn, it is fit for nxron »m (but, as a X7owy, is still rendered a non-"92)
(a) Reason: we don’t use a X103 to “back-up” another x10v3
ii ~ Nr277x3 representing various opinions about how to test if the '3 is X% or even v13n
b 77951 7ax:if it has a nail, it has a bone; but it could have a bone without having a nail
i Implication: if it has a nail, it is YnRka VM, as well as XM Yan; without 1M9%, no YR NRMY.
ii 37 an extra digit with no nail is only Xwn21 yana Xnvn; per 13N 1 — only if aligned with other digits
II 3 mwn: another similar relationship — in re: nkMv
a  np vy 017 R if it is susceptible to TN NN, it is susceptible to N1 NrMY; but could be susceptible to nn NrMY only
i Rule: includes a basket — if he sat on it, not 771 8nVM, in spite of v. 1a, v. 1b teaches that it must be made for sitting
II 7 mwn: similar relationship between fitness to adjudicate capital cases and monetary cases
a  »”n 77 if oneis fit as a judge for capital cases, he is fit for financial cases (mnnn »>7); but one may be fit for mmn »>7 only
i A7 37 comes to include a 9mn (who is fit for n”1 only)
ii ~ Challenge: same mwn — with same inference by nmn’ 17 — appears in 2:7 7770
1  Answer: one extends to include 73, the other —qmn
2 Justification: 71 is fit to marry into Ynp; 91N comes from “nIW3 NYV”
IV n mwn: similar relationship between fitness for mTy and fitness for 17
a 77 if one is fit to serve as a 17, he is fit to serve as an Tv; but could be fit for N7y only
i 77 comes to include a 1-eyed man (blind in one eye — fit for m7y only)
ii ~ Per: n™ (8n»71) —interpreting v. 2 sees analogy between 2 (n"1) and nyn
1 Just as: wyn are seen by day (v. 2) and by a sighted 173 (v. 3), so too n”1 must be adjudicated by sighted 1’1 during day
2 And just as: D211 cannot be adjudicated by a relative, so too D’»31 may not be seen by a 11> who is a a1p
3 Proposal: perhaps, just as n’a» require 3, wyn should require 3 (v/p — if his pnn is “decided” by 3, certainly his body...)
(a) Rejection: v. 5 explicitly allows for a single 113 to investigate noyn
iii story: there was a (partially?) blind man in 130V *1’s neighborhood who acted as judge and 111y "1 allowed it to stand
1 challenge: 13mv "1 ruled that we follow mwn ono; ours (and 2:7 11TMV), per his own interpretation, excludes blind 7
2 answer: there is a competing mwn ono (ibid) — n”1 are begun by day but may conclude at night
(a) explanation: this nwn clearly rejected comparison with o', which must be fully judged by day
(b) justification: 13 1 preferred that bno as it represented a consensus, or because it was taught with 027 m25n
V 1y mwn: similar relationship between mawyn 2vn and susceptibility to 17218 nrmo
a  poowif afood is mawyna a7, it is susceptible to Y218 NRMY; but could be susceptible to X" only
b Teaching: that even meat, fish and eggs (are susceptible to ")

© Yitzchak Etshalom 2012 41 www.dafyomivicc.org




